CEER H

dp
=

bg 258

M

/

s

G

il

5112306503456

TELE:

BEERBRESVIEAES

=4

p--8

BEs

FoHHMOET 58

NEBSEA

HRESE/ENHERR
450 6s ba 24a

2. EREHRS

“M b5 b5z 258 ~f 5% 5g

EREFDREL UIEH

EHEOER

EROXREBLOME

3. EmEMER
BqE |
=%

2KG—-FS74HZ
EBhFEOES|

[318]

] s
il FREME DT 6R 20

BEXR - E%2H DF

%= iE AR

B
N

D % &
EEORBHR REEA 14000 i

¥ A3

[012] 2 A

HEREE

10850k

ERRER

24960k x

1198 cn

12

[T

249cn

315!

AT AT 8 B

2950

AEE

33204k

TATEE

2320k

EHEE

2260kg

RESEXRERHED

k¥
10. 67

BRELOTEE 42 1

HAEEES

ENRSES

4.18%

[
$§%?%éﬁﬁ

@
il
o
#h=
pcs

HER
(m&ﬁﬁﬁ%ﬁﬁ &% 1, 200rpm)
> 7S—MEEETRFAEAE

£%®@§E$ﬁ]
LTF&RE

7':?) N3C2A
1, 200rpm

(920) #isl#>7 2f8 200L

?M)ﬁaa_méﬁsmﬁmmxmﬁNo

300!

[EE$H]
ERFEI AT LAREFAOCHEEZVET

EHID

T9466QJ7002860



minak
テキストボックス

minak
テキストボックス

minak
テキストボックス

minak
テキストボックス




